COMMANDO OLIETANK / OILTANK

NUMMER / DISCRIPTION/ BOUWJAAR / EURO / PRICE

PARTNR. BENAMING YEARS USED INCL 19% BTW
Fiber washer 5/8"

00-0182 Fiberring 5/8" 1968-1970 €0,20

Washer, large union bolt

04-2065 Ring grote banjobout met filter (2) 1968-1977 €1,50

Top mounting rubber with studs

06-0636 Ophangrubber boven 1971-1971 €11,00

Drainbolt, with magnet

06-0668 Aftapbout, met magneet 1971-1971 €13,00

Mounting rubber, top
06-0811 Rubber ophanging olietank upto 1977 €1,00

Rubber, bottom mounting bolt

06-0916 Afstandrubber bout ophanging onder 1968-1970 €1,00

Return union, S-type

06-1155 Banjo op olietank retour S-type 1969-1970 €23,00

Large union bolt

06-1159 Filterbout 1971-1971 €30,00

Spacer, botton mounting

06-1650 Bus ophanging onder 1971-1977 €2,00

Connection banjo, union bolt/hose

06-2207 Banjo filterbout-slang 1971-1971 €23,00

Copper washer 3/8"
06-2624 Koper ring 3/8 1968-1977 €1,00

Transfer "OIL TANK LEVEL"
06-3755 Transfer "OIL TANK LEVEL" €3,00

Rubber, battery / oiltank
06-3961 Accurubber tegen olietank (1) 1975-1977 €1,00

Fillercap with dipstick
06-5509 Vuldop olietank met peilstok 1968-1977 €34,00

Fillercap CHROME with dipstick
06-5509C Olietankdop met peilstok Chroom 1968-1977 €22,00

Washer oiltank / filter union

06-7611 Ring oliefilterbanjo/olietank upto 1970 €3,00

Pagina/Page 1van/of 2



NUMMER / DISCRIPTION/ BOUWJAAR / EURO / PRICE

PARTNR. BENAMING YEARS USED INCL 19% BTW

Bolt 1/4 UNFx 1"
14-0105 Bout 1/4 UNF x 1" 1971-19717 €0,50

Cork washer, oiltankcap

82-4048 Ring kurk 1954-1977 €1,00

Engine oil 20W50, 5 Ir
EMW-122 Motorolie 5 1r , 20 W 50 €70,00

Oil 4 Ir 20W50 synthetic blend
EMW-122SB Olie 41r 20W50 synthetic blend €45,00

Alloy oiltank + alloy sidecover set

EMW-271 Aluminium olietank met dop, incl. 1968-1977 €560,00

CASTOR racing oil SAE 40, 5 liter

R40 Castor plantaardige race olie 5 Ir. €60,00

Pagina/Page 2 van/of 2



